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LaTeX Code:

\documentclass[12pt, adpaper] {article}
‘\begin{document}

Hello World!
\end{document}
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LaTeX Code:

\documentclass[12pt, adpaper] {article}
\begin{document}
Hello World!

\end{document }
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LaTeX Code:

\documentclass[12pt, adpaper] {article}
\begin{document}
Hello World!
\begin{equation}
f(x)=y
\begin{equation}
\end{document }
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\section{...}
\subsection{...}
\subsubsection{...}
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LaTeX Code:

\begin{document}
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\begin{center}
Center
\end{center}
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\theta
\vartheta
‘iota
\kappa
\lambda
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LaTeX Code:

\usepackage{graphicx}

LaTeX Code:

\includegraphics{kiti.png}
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LaTeX Code:
\begin{figure}
\begin{center}
\includegraphics{kiti.png}

\end{center}
\end{figure}
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LaTeX Code:
\begin{tabular}{|clc]|}

\end{tabular}




LaTeX Code:
\begin{tabular}{|1[>{S$}c<{S}c|>{S$}tc<{S}I}
\hline
\backslashbox{Function} {Argument} & 0 & \pi/2 \\
\hline
$\sin$ & 0 & 1 \\
\hline
S\cos$S & 1 & 0 \\
\hline
\end{tabular}

‘ ' Argument 0| /2
Function
' 0 1

sin

COS 1 0
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LaTeX Code:
\begin{table}
\begin{tabular}{|clc]|}

\end{tabular}

\end{table}




LaTeX Code:

\tableofcontents




thebibliography ¢ «>L®

LaTeX Code:

\begin{thebibliography} {99}

\end{thebibliography}
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LaTeX Code:

\documentclass{ieeeconf}
\documentclass{elsarticle}
% \documentclass{llncs}
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